A 05 4R JE
iRl ) - N HERS Eabi s T8 (5)iE) & Bt E )
E&.‘
T™ = K = /R D
FHATHE 1 7= A B BE RN
S 1} JC % i
- 2 4 4,708,000 1 H
2 9 #H
( WIHEBIEE ) ( M) ( M)
THEHK 85 HIH HiE( 5 B HI )
T F-/E 17 B &
NiE SERCHIRR H | H SEACH BR e A H
Jifi T4E£1=57. Om
3= i Hm L N=1 = i
WNET. v=120m3
(L)
AL B AR

Ff b




G- - o
( Hfr M)
=S it 7z " (1 M| B) z " (2 M| A )
H H ZIu = E=3 £ Ean = 5% ﬁ Ea = 5%': ﬁ
wod L # & wmw sy | T & @ R
(10)= (13)= (19)= (22)=
T
* i % (W @ M) D*®)/(3) | (10)-@ (16) 16)%©)/(3) | (19)-10)
T & 4l #% 7t 4, 280, 000
AT H % 4, 280, 000
Bt T
fHE T
NN w B (11)= (14)= (1n= (20)= (23)=
b=y AH = . = . = .
HEEL SR 2)=(1)%0.10 (6)=4)*0.10 ®)=(0)40.10 (10)*0. 10 1n-®) (16)%0. 10 (19)%0. 10 (22)%0. 10
THE R S ARG 428, 000
KT H= # 428, 000
Bl T
fHE T
B B (12)= (15)= (18)= (21)= (24)=
T = = =
R O=0+0 O@O=@+5 O=0+6 (10)+(11) (13)+(14) (16)+(17) (19)+(20) (22)+(23)
T %= % 3t 4, 708, 000
KT F #H 4, 708, 000
Bt T
s T




)k ZIK:I:I::;/\ k k W%Ri% £{0-0001

T H - THE - s AR - HEER XD i 7 B S % fii 3
**:KI%%’**
T IHERR
= 234, 790
e L
=Y 234, 790
FESRALER T
Y 234, 790
HEReEE ST IR (H)
— 2
HEFEEE IR EE (B b L BE)
DIDIXFEE U, EHEEREL6. OkmPL T
10 m3
WL
—2
L5y E (t)
8 t
) e
= 1,111,095

os—%%ﬁﬁ—géﬁﬁ—1111—§§%n




)k ZIK:I:I::;/\ k k W%Ri% £{0-0002

T H - THE - s TR - HEE XD i 7 B S % fii 3
W+ T
= 748, 608
JEH T
= 263, 256
P A
R it T s
—
A1
120 m3
- WD S i
T
| 3t
WD
DIDXFEHE U, EHREAEL OkmEL T
120 m3
L
TR 7
—2
i
120 m3
F - ALER T

485, 352

os—%%ﬁﬁ—géﬁﬁ—1111—§§%n




)k ZIK:I:I::;/\ k k W%Ri% £{0-0003

BH - LR - Jit AR - B R X i [N B & % fii 3

FEIA (=27)
120 m3

- h A S i

DIDX[HA Y . 31. 5kmEL T
120 m3

%
120 m3

ek T
Y 362, 487
THAHER T
’ = 362, 487
Pkt
HERFHLRS  MEFEX Sy
—3

R GER -

FRIE - L
511 m2

Bk b SRt

22X 1, 524 X 3, 048 (mm)
110 &

BT

1, 345, 885

os—%%ﬁﬁ—géﬁﬁ—1111—§§%n



kosk ARTE

-
%lljl

£

EH0-0004

T H - THE - s TR - HEE XD i 7 B S % fii
R
= 988, 284
RS B T
= 988, 284
% BA 55 D T
177 t
IR BA S DFEIA - HUED U
FEIA A BUEI L (FraE5T)
88 t
IR 2 DFEIA A HUHE U
FEIA A BUET L (FraE5T)
88 %
e
57)
149, 000
i (R 2
1, 137, 284
it Ty
2,483, 169
i B
RT) '
1,012, 000

os—%%ﬁﬁ—géﬁﬁ—1111—%5%ﬂ




kosk ARTE

E0-0005

PH - THE - fn LA - HEEX D P =8 Iiva B %A fii
L5 B A
1,012, 000
R
3, 495, 169
=R
3, 495, 169
— s A A A
784, 831
:ﬁ%%ﬁ%%
784, 831
TSk
4, 280, 000

os—%%ﬁﬁ—géﬁﬁ—1111—%5%ﬂ




	tan
	kou

